
General Canopy parts list for vertical hoists

Quanity per canopy

Item Part# Description 20' 22' 24' 26' 28'

1 H-B25175THB 1/4" x 1 3/4" Truss head bolt 32 34 36 38 40

2 H-NS25 1/4" Serrated nuts 32 34 36 38 40

3 H-B37200 3/8" Bolt 2" long 8 8 8 8 8

4 H-B37350 3/8" Bolt 3 1/2" long 4 4 4 4 4

5 H-NS37 3/8" Serrated nut 12 12 12 12 12

6 MH-CCB Steel Canopy clamp 4 4 4 4 4

7 MH-C**R **=Length Canopy rail Length is 2' shorter than canopy length 2 2 2 2 2

8 MH-BUNGEE** **=Length Bungee cords 20 22 24 26 28

9 MH-C-ROPE 1/4" Nylon rope  25'-0 long 2 2 2 2 2

10 MH-VINYL** **=Length,Width,Color Canopy vinyl 1 1 1 1 1

11 MH-CLVW Canopy leg 2 1/2" X 36" for winch column 1 1 1 1 1

12 MH-CLVNW Canopy leg 2 1/2" X 54" for non-winch column 3 3 3 3 3

Canopy bows for 96" wide hoists
13 MH-C96EB 1 1/4 Tube 103 3/4" lg. Bent in "C" shape 2 2

14 MH-C96ECB 1 1/4 tube 100" long approximate, rolled with center hole 2 2

15 MH-C96MB 1 1/4 tube 100" long approximate, rolled 8 9

16 MH-C96B 3/16 x 1 1/2 flat bar bent on each end 2 2

Canopy bows for 108" wide hoists
13 MH-C108EB 1 1/4 Tube 113 3/4" lg. Bent in "C" shape 2 2 2

14 MH-C108ECB 1 1/4 tube 110" long approximate, rolled with center hole 2 2 2

15 MH-C108MB 1 1/4 tube 110" long approximate, rolled 9 10 11

16 MH-C108B 3/16 x 1 1/2 flat bar bent on each end 2 2 2

Canopy bows for 114" wide hoists
13 MH-C114EB 1 1/4 Tube 119 3/4" lg. Bent in "C" shape 2 2 2 2

14 MH-C114ECB 1 1/4 tube 116" long approximate, rolled with center hole 2 2 2 2

15 MH-C114MB 1 1/4 tube 116" long approximate, rolled 9 10 11 12

16 MH-C114B 3/16 x 1 1/2 flat bar bent on each end 2 2 2 2

Canopy bows for 120" wide hoists
13 MH-C120EB 1 1/4 Tube 125 3/4" lg. Bent in "C" shape 2 2 2 2

14 MH-C120ECB 1 1/4 tube 122" long approximate, rolled with center hole 2 2 2 2

15 MH-C120MB 1 1/4 tube 122" long approximate, rolled 9 10 11 12

16 MH-C120B 3/16 x 1 1/2 flat bar bent on each end 2 2 2 2

                          This drawing is the property of NuCraft Metal Products. No Part of this 

                          drawing may be reproduced without proper authorization from Nucraft Metal

                          products.

NuCraft Metal Products Vertical Canopy parts list Drawing#: A-MH-CANOPYPARTS09

Roscommon, MI  48653 See drawing "A-MH-CANOPYASSY09" for location of parts. DATE 2-23-09

Drawn by: RLW

R

R


